We want to find the source voltage across the 1 mA current source.

We need to combine these resistors to an equivalent resistor.

The 2 and 6 k-ohm resistors are in series. Add these resistances.

The two 8 k-ohm resistors are in parallel because they share nodes. These are equivalent, so divide the single value by two to get the equivalent resistance.

Now, there are no resistors in parallel or series with each other.

But look at the subcircuit for terminals a, b, and c. These form a Wye interconnection.

Review the transformation formulas.

Calculate R1 based on the Ra to R1 formulas.

Since all the resistances in the wye circuit are the same, R2 and R3 will be the same as R1.

Replace the wye with a delta equivalent.

The 4 and 12 k-ohm resistors are in parallel, so combine them by dividing their product by their sum.

Do the same for the other 4 and 12 k-ohm branch.

For the subcircuit a, b, and c, we have a delta circuit and can convert it to a wye.

Using the formula, calculate Ra, Rb, and Rc.

The 4 and 6.75 k-ohm series is in parallel with the 27 and 4 k-ohm series as we have before.
Now there are three resistors in series, so add their resistances.

Now we can use Ohm’s law to find the source voltage.
